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BHEMFETCORBEEEMILONHNH -BEAINOHLHE-BEHE] (FF2EFEE)
(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BENE (kg/HF)

#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE

a—Fk DHEH | DHEH AR A T &5 DBRB=E| K &&t = A
1 |deiEE 5.0E-1| 1.3E+0 18 18
2 |EHE
3 |BEFE 2.4E+3 2,400.0 2,400.0
4 |ERE 5.9E+1 59.0 1.7E+3| 2.4E+3 4,061.3 41203
5 (AR 1.8E+0 18 18
6 [ILFER 2.0E-1| 35E+3 3,500.2 1.4E+0 14 3,501.6
7 |fRBE 7.8E+2 7755 3.0E+3 2,975.0 3,750.5
8 |ZWE 6.2E+0| 1.9E+3 1,920.1 9.0E+3| 1.9E+5 201,865.8 203,785.9
9 [WHARE 6.1E+0| 4.1E+3 4,114.1 31E+1| 2.7E+3 2,766.4 6,880.5
10 [HER 1.6E+1| 6.1E+1 77.0 1.2E+4| 2.4E+5 256,650.4 256,727.4
REEET! 8.7E+1| 3.1E+0 90.1 47E+3| 3.4E+3 8,187.2 8,277.3
12 |TER 7.0E-1| 3.9E+3 3,925.9 40E+3| 26E+4 30,309.5 34,2354
13 |HREER 76E+1| 59E+4 59,080.2 59,080.2
14 |[#E)E 32E+2| 1.7E+2 4895 1.9E+3| 1.0E+5 103,058.6 103,548.1
15 |#iRE 1.6E+2 159.0 3.5E+2 350.0 509.0
16 |[EWE 5.2E+0 52 3.0E-1| 6.1E+2 612.4 617.6
17 |RINE 1.5E+3 1,509.0 8.0E+1| 1.0E+4 10,080.0 11,589.0
18 |f&@HE 1.0E+0| 7.8E+3 7,811.0 14E+3| 3.2E+3 4,550.0 12,361.0
19 |ILBLE 1.0E+3 1,000.0 1,000.0
20 |RER 85E+0| 1.7E+2 1745 174.5
21 |IKEBR 1.9E+1| 5.9E+3 5,948.0 9.3E+3 9,252.0 15,200.0
22 |E&mER 53E+2| 3.2E+3 3,767.4 1.9E+3| 5.8E+4 59,697.4 63,464.8
23 |BHE 5.6E+0| 6.9E+3 6,899.8 41E+3| 5.1E+4 55,324.6 62,224.4
24 |ZER 7.0E+1| 2.7E+3 2,766.2 3.1E+4 31,449.1 34,2153
25 |HER 9.1E+0| 1.1E+3 1,119.1 9.7E+3| 7.2E+4 82,184.8 83,303.9
26 |REAT 24E+1| 9.7E+2 994.9 43E+4| 1.2E+3 44.310.6 45,3055
27 | KBRAF 1.9E+3 1,860.0 78E+3| 1.1E+5 115,078.6 116,938.6
28 |EER 36E+2| 1.4E+3 1,721.8 41E+2| 5.6E+3 6,013.3 7,735.1
29 |ERR 46E+1| 1.2E+3 1,248.0 1,248.0
30 |FNFLE 1.6E+1| 1.2E+3 1,182.0 22E+2| 1.4E+3 1,602.5 2,784.5
31 |BHRE

32 |BRE

33 |MILE 1.2E+3 1,217.0 25E+3| 1.2E+4 14,836.0 16,053.0
34 |[LER 7.4E+3 7,360.0 1.9E+1| 3.4E+3 3,459.0 10,819.0
35 |lLAOg 1.1E+0| 2.9E+4 28,659.1 40E+0| 4.0E+2 4071 29,066.2
36 |fESR 1.1E+2 106.0 2.3E+2 229.0 335.0
37 |BNR

38 |BER 1.0E+0[ 2.8E+3 2,780.0 1.7E+4 16,650.2 19,430.2
39 |EER

40 |fERR 2.0E-1| 3.3E+2 334.9 2.8E+2| 5.8E+3 6,099.9 6,434.8
41 [EER 1.0E-1| 1.6E+2 164.2 2.6E+3 2,632.0 2,796.2
2 |RIBER 1.0E+0 1.0 1.0
43 |RERR

4 | KRR 7.4E+2 740.0 2.2E+2 221.6 961.6
45 |EIFE 1.5E+3 1,463.0 2.9E+3 2,900.0 4,363.0
46 |EBESER 1.1E+0 1.1 1.1
47 |[HiER

£ H 1.5E+3| 9.3E+4 94521.8 1.1E+5] 1.0E+6| 1,140,721.3 1,235,243.1
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